

$$f(x) = \frac{\log(4x^2+1)}{4} + x \operatorname{arctg}\left(\frac{2-2x}{4x+1}\right), \quad x=0.$$

Tejn-polo parboj?

$$\sum b_n x^n, \quad b_n = ?$$

$$\operatorname{arctg}\left(\frac{2-2x}{4x+1}\right)$$

$$\operatorname{tg}(\alpha - \beta) = \frac{\operatorname{tg}\alpha - \operatorname{tg}\beta}{1 + \operatorname{tg}\alpha \cdot \operatorname{tg}\beta}$$

$$\alpha - \beta = \operatorname{arctg}\left(\frac{\operatorname{tg}\alpha - \operatorname{tg}\beta}{1 + \operatorname{tg}\alpha \cdot \operatorname{tg}\beta}\right)$$

$$\operatorname{tg}\alpha = 2, \quad \operatorname{tg}\beta = 2x$$

$$\operatorname{arctg}\left(\frac{2-2x}{1+2 \cdot 2x}\right) = \alpha - \beta = \underbrace{\operatorname{arctg} 2}_{\in \mathbb{R}} - \underbrace{\operatorname{arctg} 2x}_{\text{Parboj } y^0?}$$

$$\operatorname{arctg} x = ?$$

$$g(x) = \operatorname{arctg} x \rightarrow g(0) = 0$$

$$g'(x) = \frac{1}{1+x^2} \rightarrow g'(0) = 1 \quad n=0$$

$$g''(x) = -\frac{2x}{(1+x^2)^2} \rightarrow g''(0) = 0, \quad g''(x) = -2x \cdot (1+x^2)^{-2}$$

$$g'''(x) = -2x(-2)(1+x^2)^{-3}(2x) - 2(1+x^2)^{-2}$$

$$g'''(0) = -2 \quad \frac{-2}{3!} = -\frac{1}{3}, \quad n=1$$

$$g^{(4)}(x) = -4x^2[-2 \cdot (-3) \cdot (1+x^2)^{-4} \cdot (2x) - 8x(-2(1+x^2)^{-3})] - 2g''(x)$$

$$g^{(4)}(0) = 0 \quad \frac{-8x^3 \cdot 3! (1+x^2)^{-4}}{\dots} - 8x \cdot (-2 \cdot (1+x^2)^{-3}) - 2g''(x)$$

$$g^{(5)}(x) = -24x^2 \cdot 3! (1+x^2)^{-4} - 16x^4 \cdot (-1)^5 4! (1+x^2)^{-5}$$

$$- 8 \cdot (-2 \cdot (1+x^2)^{-3}) - 8x \cdot (-2 \cdot (-3) (1+x^2)^{-4} \cdot 2x) - 2g'''(x)$$

$$g^{(5)}(0) = +16 - 2 \cdot (-2) = 20 = 5 \cdot 4 \quad \frac{20}{5!}, \quad n=2$$

$$g^{(6)}(0) = 0$$

$$g^{(6)}(x) = -48x \cdot 3! \cdot (1+x^2)^{-4} - 48x^3 \cdot 5! (1+x^2)^{-5} \dots - 16 \cdot 4x^2 (\dots)$$

obggo, te najwiecej parbojka

$$+ 16 \cdot (-3) \cdot (1+x^2)^{-4} \cdot 2x - 32x \cdot 3! \cdot (1+x^2)^{-4} + x^2 \cdot (-\dots) - 2g^{(4)}(x)$$

$$g^{(4)}(x) = -48 \cdot 3! \cdot (1+x^2)^{-4} - 6 \cdot 16 \cdot (1+x^2)^{-4} - 32 \cdot 3! \cdot (1+x^2)^{-4} - 2g^{(4)}(x) + x \cdot (-\dots)$$

$$g^{(4)}(0) = -48 \cdot 3! - 3! \cdot 16 - 32 \cdot 3! - 2 \cdot 20 \quad \left. \begin{array}{l} 5 \cdot 4 \cdot 3 \\ \text{"} \end{array} \right\}$$

$$= -4! \cdot (12+4+8) - 2 \cdot 20 = -4! \cdot 24 - 2 \cdot 20$$

$$\arctg x = ? \quad (-1)^n \frac{1}{2n+1} x^{2n+1} - 6!$$

$$\arctg x = \sum_{n=0}^{+\infty} (-1)^n \frac{1}{2n+1} x^{2n+1}$$

$$x=1 \rightarrow \sum_{n=0}^{+\infty} \frac{(-1)^n}{2n+1} \text{ komb. da osnovy najduzhe yavno } (1x \text{ komb. - arct})$$

$$x=-1 \rightarrow \sum_{n=0}^{+\infty} \frac{(-1)^n \cdot (-1)^{2n+1}}{2n+1} = -1 \rightarrow \text{ komb. u } x = -1$$

$$\Leftrightarrow \boxed{D = [-1, 1]}$$

$$\sum_{n=0}^{+\infty} \frac{(-1)^n \cdot (2x)^{2n+1}}{2n+1} \quad \left. \begin{array}{l} 2x \in [-1, 1] \\ x \in [-\frac{1}{2}, \frac{1}{2}] \end{array} \right\}$$

$$f(x) = \frac{\log(4x^2+1)}{4} + x(\arctg 2 - \arctg x)$$

$$\log(1+t) = \sum_{h=1}^{+\infty} \frac{(-1)^{h-1} t^h}{h} = \sum_{n=1}^{+\infty} \frac{(-1)^{n-1} 4^n \cdot x^{2n}}{n} \quad \left. \begin{array}{l} t \in (-1, 1) \\ 4x^2 \in (-1, 1) \\ x^2 \in [0, \frac{1}{4}] \end{array} \right\}$$

$$f(x) = \frac{1}{4} \sum_{n=1}^{\infty} \frac{(-1)^{n-1} 4^n x^{2n}}{n} + x \cdot \arctg 2 - \sum_{n=1}^{+\infty} \frac{(-1)^n 2^{2n+1} x^{2n+1}}{2n+1}$$

$$= \sum_{n=1}^{\infty} \frac{(-1)^{n-1} 4^{n-1} x^{2n}}{n} - 2 \sum_{n=1}^{\infty} \frac{(-1)^{n-1} 4^{n-1} x^{2n}}{2n-1} + x \cdot \arctg 2 =$$

$$= \sum_{n=1}^{\infty} \frac{(-1)^n 4^{n-1} x^{2n}}{n(2n-1)} + x \cdot \arctan 2 = \sum_{n=1}^{\infty} b_n x^n, \quad x \in \left[-\frac{1}{2}, \frac{1}{2}\right]$$

$$\frac{1}{n} - \frac{2}{2n-1}$$

$$\frac{2n-1-2n}{n(2n-1)}$$

$$b_1 = \arctan 2$$

$$b_{2n+1} = 0, \quad n \geq 1$$

$$= \sum_{n=0}^{\infty} \frac{(-1)^{n+1} 4^n x^{2n+2}}{(2n+1)(n+1)}$$

$$+ x - \arctan 2$$

$$b_{2n} = \frac{(-1)^n 4^{n-1}}{n(2n-1)}$$

$$\sum_{n=0}^{\infty} \frac{\left(-\frac{4}{9}\right)^n}{(2n+1)(2n+2)}$$

$$= -9 \sum_{n=0}^{\infty} \frac{(-1)^{n+1} \cdot 4^n \cdot \left(\frac{1}{3}\right)^{2n+2}}{(2n+1)(n+1)}$$

$$= -9/2 \left(f\left(\frac{1}{3}\right) - \frac{1}{3} \arctan 2 \right) = -\frac{9}{2} \left(\frac{\ln\left(4 \cdot \frac{1}{3} + 1\right)}{4} - \frac{1}{3} \arctan \frac{2}{3} \right)$$

$$\sum_{n=1}^{\infty} \underbrace{\sin \frac{n\pi}{3}}_{\sin(n\alpha)} \underbrace{\left(\sqrt{\frac{(1+n)^3}{n}} + an + b \right)}_{a_n}$$

Konv ?

$a, b \in \mathbb{R}$

$$\sqrt{\frac{(1+n)^3}{n}} + an + b \xrightarrow{?} 0$$

$$\sqrt{\frac{1+3n+3n^2+n^3}{n}} = \sqrt{n^2 + 3n + 3 + \frac{1}{n}} = n \sqrt{1 + \frac{3}{n} + \frac{3}{n^2} + \frac{1}{n^3}} = n \left(1 + \frac{1}{n} \right)^{3/2}$$

$$n \left(1 + \frac{1}{n} \right)^{3/2} + an + b \rightarrow 0 ?$$

$$1 + \frac{3}{2} - \frac{1}{n} + \left(\frac{3}{2}\right) \cdot \frac{1}{n^2} + o\left(\frac{1}{n^2}\right)$$

$$\frac{3}{2} \cdot \left(\frac{3}{2} - 1\right)$$

$$n \left(1 + \frac{3}{2n} + \frac{3/2 \cdot (1/2)}{2} \cdot \frac{1}{n^2} + o\left(\frac{1}{n^2}\right) \right) + an + b$$

$$= \underbrace{n(1+a) + (b + \frac{3}{2})}_{\sim n + \frac{3}{8n}} + \frac{3}{8n} + o\left(\frac{1}{n}\right)$$

$$a = -1, \quad b = -\frac{3}{2} \quad \xrightarrow{n \rightarrow +\infty} 0 \quad \sim n + \frac{3}{8n}, \quad n \rightarrow +\infty$$

$$\rightarrow a \neq -1 \vee b \neq -\frac{3}{2} \quad \rightarrow 0$$

$$\text{за } a \neq -1 \text{ или } b \neq -\frac{3}{2}, \quad a_n \rightarrow 0, \quad n \rightarrow +\infty$$

\Rightarrow ряд гипергеометрический.

$$a = -1, \quad b = -\frac{3}{2}$$

$$\sum \left| \sin \frac{n\pi}{3} \right| \left(\sqrt{\frac{(1+n)^3}{n}} - n - \frac{3}{2} \right) = \sum \frac{1}{2} b_n - \sum \frac{\cos \frac{2n\pi}{3}}{3} b_n$$

\downarrow
 гипергеометрический ряд
 и порядок

\downarrow
 либо
 $\frac{\delta n}{n}$ ряд
 комбинация

$$\sum_{n=1}^{\infty} \sin \frac{n\pi}{3} \left(\sqrt{\frac{(1+n)^3}{n}} - n - \frac{3}{2} \right) \rightarrow \text{конв.}$$

Другие:
 $\Delta 1. \sum_{n=1}^{\infty} \sin \frac{n\pi}{3}$ иная серия. сумма \checkmark

$\Delta 2. \frac{b_n}{n}$ монотонно \vee $g_n \rightarrow 0$
 $b_n n + \frac{3}{8n} \rightarrow 0$
 $n \rightarrow +\infty$

$$f(x) = \sqrt{\frac{(1+x)^3}{x}} - x - \frac{3}{2}$$

$$f'(x) = \frac{1}{2} \cdot \frac{1}{\sqrt{\frac{(1+x)^3}{x}}} \cdot \frac{3(1+x)^2 \cdot x - (1+x)^3}{x^2} - 1$$

$$= \frac{(1+x)^2 (3x - 1 - x)}{2(1+x)^{3/2} \cdot x^{-1/2} \cdot x^2} - 1$$

$$= \frac{(1+x)^{1/2} (2x-1)}{2x^{3/2}} - 1 \geq 0 ?$$

$$\frac{(1+x)^{1/2} (2x-1)}{2x^{3/2}} \geq 1$$

$$(1+x)^{1/2} (2x-1) \geq 2x^{3/2} \quad \uparrow^2 \quad x > 0$$

$$(1+x) (2x-1)^2 \geq 4x^3$$

$$(4x^2 - 4x + 1)$$

$$4x^3 - 4x^2 + x + 4x^2 - 4x + 1 \geq 4x^3$$

$$1 \geq 3x$$

$$\boxed{\leq} \quad x > 1/3$$

$$x > 1$$

$$\underline{\underline{x \rightarrow +\infty}}$$

$$\Rightarrow f' < 0 \quad , \quad x > 1$$

$f \downarrow \Rightarrow f(n)$ монотонно

вн монотонно

$$\underline{\underline{WT}} \quad \frac{I_n + 4ne - (I_{n-1} + 4(n-1)e)}{2n(2n+1) - 2(n-1)(2n-1)}$$

$$I_n - I_{n-1} = ?$$

$$I_n = \int_0^1 x^n e^{\sqrt{x}}$$

$$I_{n-1} = \int_0^1 x^{n-1} e^{\sqrt{x}}$$

$$\frac{I_n + 4ne}{2n(2n+1)}$$

$$\frac{I_{n-1} + 4(n-1)e}{2(n-1)(2n-1)}$$